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DOY325 DOY326

tstart=D0Y325 1Q:32 from derivative=0
Event begins at 2.33 Solar Radii
radial acceleration= ©2.0128 +/- 0.0016 [km/sec*x2]



velocity (km/sec)

radial

height= h + velXtime + 1/2%accelXtimeXXx2

SMM C/P 1988 DOY325 230 +/-

@ degrees

# data points =
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This is a 1 order run
sk sk sk o ok ok ok ok koo ok ok sk s ks sk sk sk ko ok

seskkokokskk

INPUT:

skokskskokskok

error in error in

year doy time radii radius angle angle datatype

1988 325 20:30:59 245 +/-0.10 230.0 +/- 0.5 SMM
1988 325 21:31:40 2.80 +/-0.10 230.0 +/- 0.5 SMM
1988 325 21:56:28 3.00 +/- 0.15 230.0 +/- 1.0 SMM
1988 325 22: 4:45 3.05+/-0.15 2300 +/- 1.0 SMM
1988 325 22:21:13 3.30+4/-0.15 230.0 +/- 1.0 SMM
1988 325 23: 5:26 3.90 +/- 0.15 230.0 +/- 1.0 SMM
1988 325 23:30:14 4.25+4/-020 230.0 +/- 1.0 SMM
1988 325 23:54:59 4.50 +/- 025 230.0+/- 1.0 SMM

sk ok sk ok ok sk ok sk sk ok ok sk sk skskok ok ok sk skeskek skokokok skok sk ok sk sk skekokok skok skek

Structure being measured:
Top of Cavity

sk sk skok ok sk ok ok ok sk sk sk ok sk sk skeskoskok sk oskok sk skok sk sk oskokok sk ok ok ok ok
skeskeskekokok ko

OUTPUT:

ook sk kol ok

START TIME:

Event began at t = 0 + -0.103E+03 +/- 0.442E+01 [minutes]

In more convenient units;

Event began at DOY 325 18:17 +/- 0.442E+01 [minutes]

Origin defined at DOY325 20: 0

RADIAL INFORMATION:
RADIAL VELOCITY = 113. +/- 10. km/sec

The computed RADIAL coefficients and errors FROM NLLST2 are:
c(l) = 0.200E+01 +/- 0.107E+00 [solar radii]

c2)= 0.973E-02 +/- 0.852E-03 [radii/min]

c(2) = 0.113E+03 +/- 0.988E+01 [km/sec]

c(3)= 0.000E+00 +/- 0.000E+00 [radii/min**2]

c¢(3) = 0.000E+00 +/- 0.000E+00 [km/sec**2]

The computed ERRORS in coefficients [BEVINGTON] are:

error in c(1)= 0.15047E+00 [radii] see Bevington pg. 114

error in c(2)= 0.97069E-03 [radii/min] see Bevington pg. 114
ANGULAR INFORMATION:



ANGULAR VELOCITY = 0.0000E+00 +/- 0.0000E+00[radians/sec]
The computed ANGULAR coefficients and errors FROM NLLST2 are:

a(l) = 230. +/- 0. [degrees]

a(2) = 0.000E+00 +/- 0.000E+00 [degrees/min]
a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]

THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 20:30 = 0. km/sec
The TOTAL velocity at 20:30 = 113. km/sec

The TANGENTIAL velocity at 21:31 = 0. km/sec
The TOTAL velocity at 21:31 = 113. km/sec

The TANGENTIAL velocity at 21:56 = 0. km/sec
The TOTAL velocity at 21:56 = 113. km/sec

The TANGENTIAL velocity at 22: 4 = 0. km/sec
The TOTAL velocity at 22; 4 = 113. km/sec

The TANGENTIAL velocity at 22:21 = 0. km/sec
The TOTAL velocity at 22:21 = 113. km/sec

The TANGENTIAL velocity at 23: 5= 0. km/sec
The TOTAL velocity at 23: 5 = 113. km/sec

The TANGENTIAL velocity at 23:30 = 0. km/sec
The TOTAL velocity at 23:30 = 113. km/sec

The TANGENTIAL velocity at 23:54 = 0. km/sec
The TOTAL velocity at 23:54 = 113. km/sec

sk sk sk ok sk ok sk ok sk sk ok sk st sk sk sk sk sk ok sk ke sk sk ok sk skl ok sk sk sk sk sk sk ok sk skok sk skokskok sk sk sk skoksk sk sk okok skek

The following info is for estimating goodness of the fit
sk sk s ok 3k ok ok ok st o ok e sk e st ke sk sk sk sk sk s sk ok sk ok ok sk stk ok skoke sk sk ok ok sk ok sk skokokskok skokek ok skok skokok

Fit is ok [ier=1]

Standard Deviation in the height = 0.73

Standard Deviation in start time measurement =  0.622E+02
Error in time = 0.43009E+02 using best fit method

See Taylor Error Analysis [Univ of Colorado] pg.78

Value of reduced Chi Squared returned from nllst2 = 0.203E-01
Reduced Chi Squared = 0.153E+00

Chi Squared = 0.917E+00

The probability for exceeding chi square = 0.100E+01



The correlation coefficient =  0.981E+00
The probability that no LINEAR correlation exists between the variables = 0.1600E-04
SEE BEVINGTON "Data Reduction and Error Analysis” [1969] :
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This is a 2 order run
sksk sk sk ok ok sk ok skeoke ok ok ok ok skeok sk sk sk sk skok

seskokokokskk

INPUT:

shokoskekoskokok

error in error in

year doy time radii radius angle angle datatype

1988 325 20:30:59 245 +/-0.10 2300 +/- 0.5 SMM
1988 325 21:31:40 2.80 +/-0.10 230.0 +/- 0.5 SMM
1988 325 21:56:28 3.00 +/- 0.15 230.0 +/- 1.0 SMM
1988 325 22:4:45 3.05+/-0.15 230.0 +/- 1.0 SMM
1988 325 22:21:13 3.30 +-0.15 2300 +/- 1.0 SMM
1988 325 23:5:26 3.90 +/-0.15 2300 +/- 1.0 SMM
1988 325 23:30:14 4.25+/-020 230.0 +/- 1.0 SMM
1988 325 23:54:59 4.50 +/- 025 230.0 +/- 1.0 SMM

sk sk ok ok ok skeokok sk ok ok skok ok sk sk skekeskokok sk stk sk ekl sk okosk sk skok

Structure being measured:
Top of Cavity

skokoskeokok shokosk skokok shok okl skokok skokok sokoke shokosk sk ok sk skeskok sk skok sk ok

sheokskekeokskokok

OUTPUT:

seskeskekokskeokok

START TIME:

tstart=DOY 325 19:32 from derivative = 0
Event begins at  2.33 Solar Radii
Origin defined at DOY325 20: 0

RADIAL INFORMATION:
RADIAL ACCELERATION = 0.128E-01 +/- 0.156E-02 km/sec**2
The computed RADIAL coefficients and errors FROM NLLST?2 are:

c(l) = 0.235E+01 +/- 0.538E-01 [solar radii]
c(2) = 0.187E-02 +/- 0.992E-03 [radii/min]
c(2)= 0217E+02 +/- 0.115E+02 [km/sec]
c3)= 0.331E-04 +/- 0.403E-05 [radii/min**¥2]
cB)= 0.128E-01 +/- 0.156E-02 [km/sec**2]

The computed ERRORS in coefficients [BEVINGTON] are:

Approximate error in ¢(1) = 0.10680E+00 [radii] Bevington pg 154 (8-30)
Exact error in ¢(1) = 0.62479E-02 [radii] Bevington pg 154 (8-28)
Approximate error in ¢(2) = 0.16673E-02 [radii/min] Bevington pg 154 (8-30)
Exact error in ¢(2) = 0.13177E-03 [radii/min] Bevington pg 154 (8-28)
Approximate error in ¢(3) = 0.59170E-05 [radii/min**] Bevington pg 154 (8-30)




Exact error in ¢(3) = 0.76114E-06 [radii/min**] Bevington pg 154 (8-28)
ANGULAR INFORMATION:
ANGULAR ACCELERATION= 0.0000E+00 +/- 0.0000E+00[radians/sec**2]
The computed ANGULAR coefficients and errors FROM NLLST? are:

a(1) = 230. +/- 0. [degrees]

a(2) = 0.000E+00 +/- 0.000E+00 [degrees/min]
a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]

THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 20:30 = 0. km/sec
The TOTAL velocity at 20:30 = 46. km/sec

The TANGENTIAL velocity at 21:31 = 0. km/sec
The TOTAL velocity at 21:31 = 92, km/sec

The TANGENTIAL velocity at 21:56 = 0. km/sec
The TOTAL velocity at 21:56 = 111. km/sec

The TANGENTIAL velocity at 22: 4 = 0. km/sec
The TOTAL velocity at 22: 4 = 118. km/sec

The TANGENTIAL velocity at 22:21 = 0, km/sec
The TOTAL velocity at 22:21 = 130. km/sec

The TANGENTIAL velocity at 23: 5= 0. km/sec
The TOTAL velocity at 23: 5 = 164, km/sec

The TANGENTIAL velocity at 23:30 = 0. km/sec
The TOTAL velocity at 23:30 = 183. km/sec

The TANGENTIAL velocity }t 23:54 = \ 0. km/sec
The TOTAL velocity at 23:54 = 202. km/sec

ok ko okokok sk skeokskokokokokek sk sekeskoskoskok sk ok skeok stk sk skok sk ko ok ok sk kok sk ok sk sk sk sk stokokok sk skok ok

The following info is for estimating goodness of the fit
sk ok ook s sk sk e ek sk sl seseskesk sk sk sk e sk sk sk sk ok sk stesk sk sk sk e sk sk sk ok sk stesk sk sk sk skesk ok sk sk sk skeskokok ok sk skok

Fit is ok [ier=1]

Standard Deviation in the height = 0.73

Standard Deviation in start time measurement =  0.622E+02
Value of reduced Chi Squared returned from nllst2 = 0.193E-02
Reduced Chi Squared = 0.332E-01

Chi Squared = 0.166E+00

The probability for exceeding chi square = 0.100E+01



For a second order fit 3 correlation coefficients are given:
(Using equation of motion: r = a + bt + at**2)
The correlation between the data and the term linear in time = 0.1051E+01
The correlation between the data and the time**2 term = 0.9502E+00
0The correlation between the data and the complete equation of motion = 0.1003E+01
SEE BEVINGTON "Data Reduction and Error Analysis" [1969]
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tstart=D0OY325 19:16 +/- 2.3 [min.]
radial velocity= 118. +/- 9. [km/sec]
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SMM C/P 1988 DOY325 230 +/- @ degrees

height= h + velXtime + 1/2%accelXtime*x2 # data points = 8
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DOY325

tstart=D0OY325 19:39 from derivative=0
Event begins at 1.92 Solar Radii

DOY326

radial acceleration= @0.0124 +/- @.9089 [km/sec**2]



velocity (km/sec)

radial

height= h + velXtime + 1/2%accel*timex*x2

SMM C/P 1988 DOY325 230 +/-

@ degrees

# data points =

8

200. erTT LU L I s

194.
180.
178.
1690.
159.
140.
130.
120.
119.
108.
90.
80.
70.
60.
50.
40.
30.
20.

Top of Prominence

SMM & MK3 - CORRECTED TIMES

mMmmmmmMmmmMmmmmmMmmmMMMMMmMmmmMmmMmmMInm

10. te b e v v e b s b v L gt L (IO B A A |

20.:00
DOY325

20:30

tstart=DOY325 19:39
Event begins at

radial

21:00 21:30 22:00 22:30

acceleration=0.124E-21

23:00 23:30

from derivative=0

1.92 Solar Radii

Km/sec*x2

2:00
DOY326




ekt sksdok sk skokok Sokskosk sk ok ok skok

This is a 1 order run
**********************

Heskokokokok sk

INPUT:

dekskekokokok

error in error in

year doy time radii radius angle angle datatype

1988 325 20:30:59 2.00 +/- 0.15 230.0 +- 0.5 SMM
1988 325 21:56:28 2.55 +/-0.15 2300 +- 0.5 SMM
1988 325 22:4:45 2.60 +/-0.15 2300 +/- 0.5 SMM
1988 325 22:21:13 275 +/-0.15 2300 +- 0.5 SMM
1988 325 23:5:226 325 +/-0.15 230.0 +- 1.0 SMM
1988 325 23:30:14 3.65 +/-0.15 230.0 +/- 1.0 SMM
1988 325 23:38:30 3.80 +/- 0.15 230.0 +- 1.0 SMM
1988 325 23:54:59 4.00 +/- 0.15 230.0 +/- 1.0 SMM

****************************************

Structure being measured:
Top of Prominence-. ¢ AN
****************************************

skokokskok ok ok ok

OUTPUT:

skskskok sk ok ok ok

START TIME:
Event began at t = 0 + -0.457E+02 +/- 0.231E+01 [minutes]
In more convenient units:
Event began at DOY 325 19:16 +/- 0.231E+01 [minutes]
Origin defined at DOY325 20: 0
RADIAL INFORMATION:
RADIAL VELOCITY = 118. +/- 9. km/sec
The computed RADIAL coefficients and errors FROM NLLST?2 are:
c(1)= 0.147E+01 +/- 0.136E+00 [solar radii]
¢(2) = 0.102E-01 +/- 0.801E-03 [radii/min]
¢(2) = 0.118E+03 +/- 0.929E+01 [km/sec]
¢(3) = 0.000E+00 +/-  0.000E+00 [radii/min**2]
¢(3) = 0.000E+00 +/-  0.000E+00 [km/sec**2]
The computed ERRORS in coefficients [BEVINGTON] are:
error in ¢(1)= 0.14711E+00 [radii] see Bevington pg. 114

error in ¢(2)= 0.86469E-03 [radii/min] see Bevington pg. 114
ANGULAR INFORMATION:




ANGULAR VELOCITY = 0.0000E+00 +/- 0.0000E+00[radians/sec]
The computed ANGULAR coefficients and errors FROM NLLST? are:

a(1) = 230. +/- 0. [degrees]

a(2) = 0.000E+00 +/-  0.000E+00 [degrees/min]
a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/-  0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/-  0.000E+00 [rad/sec**2]

THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 20:30 = 0. km/sec
The TOTAL velocity at 20:30 = 118, km/sec

The TANGENTIAL velocity at 21:56 = (. km/sec
The TOTAL velocity at 21:56 = 118. km/sec

The TANGENTIAL velocity at 22: 4 = 0, km/sec
The TOTAL velocity at 22: 4 = 118. km/sec

The TANGENTIAL velocity at 22:21 = 0. km/sec
The TOTAL velocity at 22:21 = 118. km/sec

The TANGENTIAL velocity at 23: 5= 0. km/sec
The TOTAL velocity at 23: 5 = 118. km/sec

The TANGENTIAL velocity at 23:30 = 0. km/sec
The TOTAL velocity at 23:30 = 118. km/sec

The TANGENTIAL velocity at 23:38 = 0. km/sec
The TOTAL velocity at 23:38 = 118. km/sec

The TANGENTIAL velocity at 23:54 = 0. km/sec
The TOTAL velocity at 23:54 = 118. km/sec

**********************************************************

The following info is for estimating goodness of the fit
**********************************************************

Fit is ok [ier=1]

Standard Deviation in the height = 0.71

Standard Deviation in start time measurement = 0.636E+02
Error in time = 0.37337E+02 using best fit method

See Taylor Error Analysis [Univ of Colorado] pg.78

Value of reduced Chi Squared returned from nlist2 = 0.207E-01
Reduced Chi Squared = 0.869E-01

Chi Squared = 0.521E+00

The probability for exceeding chi square = 0.100E+01




The correlation coefficient = 0.979E+00

The probability that no LINEAR correlation exists between the variables = 0.2239E-04
SEE BEVINGTON "Data Reduction and Error Analysis" [1969]
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This is a 2 order run

steakoskskesk koo skeokok sk sk ok okok o sk sk sk

$okckskosk ko
INPUT:
deskskoskokskok

error in etror in
year doy time radii radius angle angle datatype
1988 325 20:30:59 2.00 +/- 0.15 230.0 +- 0.5 SMM
1988 325 21:56:28 2.55 +/-0.15 230.0 +/- 0.5 SMM
1988 325 22: 4:45 260 +/-0.15 2300 +/- 0.5 SMM
1988 325 22:21:13 2.75 +/- 0.15 230.0 +- 0.5 SMM
1988 325 23:5:26 3.25+/-0.15 2300 +- 1.0 SMM
1988 325 23:30:14 3.65 +/-0.15 2300 +/- 1.0 SMM
1988 325 23:38:30 3.80 +/-0.15 2300 +- 1.0 SMM
1988 325 23:54:59 4.00 +/- 0.15 230.0 +/- 1.0 SMM

****************************************

Structure being measured:

Top of Prominence
****************************************

sk sdokok ok

OUTPUT:

Heskoskok skok ok ok

START TIME:
tstart=DOY325 19:39 from derivative = 0
Event begins at 1.92 Solar Radii
Origin defined at DOY325 20: 0
RADIAL INFORMATION:
RADIAL ACCELERATION = 0.124E-01 +/- 0.902E-03 km/sec**2

The computed RADIAL coefficients and errors FROM NLLST? are:

c(1) = 0.193E+01 +/- 0.426E-01 [solar radii]
¢(2) = 0.138E-02 +/- 0.660E-03 {radii/min]
¢(2) = 0.160E+02 +/- 0.765E+01 [km/sec]
¢(3)= 0.320E-04 +/- 0.233E-05 [radii/min*+2]
¢(3) = 0.124E-01 +/- 0.902E-03 [km/sec**2]

The computed ERRORS in coefficients [BEVINGTON] are:

Approximate error in c(1) = 0.46619E-01 [radii] Bevington pg 154 (8-30)
Exact error in ¢(1) = 0.26829E-02 [radii] Bevington pg 154 (8-28)
Approximate error in ¢(2) = 0.72274E-03 [radii/min] Bevington pg 154 (8-30)
Exact error in ¢(2) = 0.55015E-04 [radii/min] Bevington pg 154 (8-28)
Approximate error in c¢(3) = 0.25549E-05 [radii/min**] Bevington pg 154 (8-30)




Exact error in ¢(3) = 0.30348E-06 [radii/min**] Bevington pg 154 (8-28)
ANGULAR INFORMATION:
ANGULAR ACCELERATION= 0.0000E+00 -+/- 0.0000E+00[radians/sec**2]
The computed ANGULAR coefficients and errors FROM NLLST? are:

a(1) = 230. +/- 0. [degrees] ‘
a(2) = 0.000E+00 +/- 0.000E+00 [degrees/min]
a2) = 0.000E+00 +/-  0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2)]
a3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]

THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 20:30 = 0. km/sec
The TOTAL velocity at 20:30 = 39. km/sec

The TANGENTIAL velocity at 21:56 = 0. km/sec
The TOTAL velocity at 21:56 = 103. km/sec

The TANGENTIAL velocity at 22: 4 = 0. km/sec
The TOTAL velocity at 22: 4 = 109. km/sec

The TANGENTIAL velocity at 22:21 = 0. km/sec
The TOTAL velocity at 22:21 = 121. km/sec

The TANGENTIAL velocity at 23: 5= 0. km/sec
The TOTAL velocity at 23: 5 = 154, km/sec

The TANGENTIAL velocity at 23:30 = 0. km/sec
The TOTAL velocity at 23:30 = 172. km/sec

The TANGENTIAL velocity at 23:38 = 0. km/sec
The TOTAL velocity at 23:38 = 178. km/sec ™ -
-

The TANGENTIAL velocity at2/3:54 = 0. km/se)
The TOTAL velocity at 23:54 = 191. km/sec

**************************;g*%****************************

The following info is for estimating goodness of the fit
**********************************************************

Fit is ok [ier=1]

Standard Deviation in the height = 0.71

Standard Deviation in start time measurement =  0.636E+02
Value of reduced Chi Squared returned from nllst2 = 0.745E-03
Reduced Chi Squared = 0.503E-02

Chi Squared = 0.251E-01

The probability for exceeding chi square = 0.100E+01




For a second order fit 3 correlation coefficients are given:
(Using equation of motion: r = a + bt + at**2)
The correlation between the data and the term linear in time = 0.9791E-+00
The correlation between the data and the time**2 term = 0.9989E+00
OThe correlation between the data and the complete equation of motion = 0.9987E+00
SEE BEVINGTON "Data Reduction and Error Analysis" [1969]




